
Coupe harmonisée Chambéry 2009

CAT. 6 A MESSIEURS FREE SKATING      JUDGES DETAILS PER SKATER

Name
Deductions

-

Nation Total 

Segment

Score

=

Total 

Element

Score

+

Total

Program  Component

Score (factored)

+

Pl. 

# Executed 

Elements 

Base 

Value 

GOE J1 J2 J3 J4 J5 J6 J7 J8 J9 J10 Scores of 

Panel

1  1.90 -0.10 0 0 -1  1.80FCSp1

In
fo

Antonio RUSSO ITA  34.44  0.00 24.32 10.12 1

1F  0.00 0 00 0.502  0.50

2S -2-2-2 1.303 -0.60  0.70

CSp* --- 0.004 *  0.00  0.00

000 0.00 0.905 1F+1T  0.90

11  1.210 0.33 0.886 x1A

7  1.43 -0.10 0 0 -1x2S  1.33

8  0.00  0.00 -  0.00- -CSSp1* *

9  1.65 -0.10 -1  1.55-1 -1x1Lz+1T+1Lo

 1.80  0.33 0  2.131 1SlSt110

 10.36  10.12

Program Components 

Skating Skills  2.50  2.50  2.75

Factor 

 2.00  2.58

 2.50 2.00  2.50 2.75 2.25Transitions

 2.50 2.00  2.75 2.50 2.25Performance/Execution

Choreography  2.00  2.25  2.75 2.00  2.33

Interpretation  2.00  2.50  2.25 2.00  2.25

Deductions  0.00

Judges Total Program Component Score (factored)  24.32

  *  Invalid element   x  Credit for highlight distribution, base value multiplied by 1.1 

Name
Deductions

-

Nation Total 

Segment

Score

=

Total 

Element

Score

+

Total

Program  Component

Score (factored)

+

Pl. 

# Executed 

Elements 

Base 

Value 

GOE J1 J2 J3 J4 J5 J6 J7 J8 J9 J10 Scores of 

Panel

1  0.60  0.00 0 0 0  0.601Lz

In
fo

Angelo BARDET  33.58  0.00 21.82 11.76 2

2T+1T< -0.30 -1 -1-1 1.302 <  1.00

CCoSp1 000 2.003  0.00  2.00

SpSq1 -200 1.804 -0.20  1.60

000 0.00 0.885 x1A  0.88

-2-2  1.500-0.40 1.906 CSSp1

7  1.87  0.00 0 0 0x1A+1T+1Lo  1.87

8  1.43  0.33 1  1.761 0x2T

9  0.55  0.00 0  0.550 0x1F

 12.33  11.76

Program Components 

Skating Skills  2.50  2.25  2.25

Factor 

 2.00  2.33

 2.08 2.00  1.50 2.50 2.25Transitions

 2.25 2.00  2.00 2.25 2.50Performance/Execution

Choreography  2.50  2.00  1.75 2.00  2.08

Interpretation  2.50  2.25  1.75 2.00  2.17

Deductions  0.00

Judges Total Program Component Score (factored)  21.82

  <  Downgraded jump   x  Credit for highlight distribution, base value multiplied by 1.1 
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